2 KIEMER DOKE R
(10) FHAKIR
(1) PR O R AT
O _75E 5 KPR

£ 7K e A H H28.4.19 | H28.5.18  H28.6.13 | H28.7.25 | H28.8.29
PN i 5 5 5] = =

= i (C) 18.5 20.0 21.8 26.5 26.7
7K i (C) 16. 2 15.6 15.6 15.8 16.0
— ik A (f8 /mL) 0 0 0 0 0
x i (MPN/100mL) 0 0 0 0 0
H KI Ak OFONEY (mg/L) — — — <0. 0003 —
KB E O 2 O b & W (mg/L) — — — | <0.00005 -
L v kX ZE O LA W (mg/L) — — — <0. 001 —
m kK O F o b A W (mg/L) — — — <0. 001 —
E £ kK O 2 O 8 A& W (mg/L) — — — <0. 001 -
= A (/| (mg/L) — — — <0. 005 —
il it fik HE %= = (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
VT A A A RO T (mg/L) — — — <0. 001 —
MBREEELCHMBREER (mg/L) 2.9 2.8 2.7 2.6 2.7
7 v FZF RO EZE 0O AEWY (mg/L) <0. 08 — — 0. 08 —
r v F KR O F 0O AW (mg/L) — — — <0.01 —
Iy bi 1k K F# (mg/L) — — — | <0.0001 —
1, 4- D 7 e Va N (mg/L) — — — <0.001 —
CA-1,2-Y 7 muxF L KN

KS v zx-1,2-Y7mRrxTF L (mg/L) — — — | <0.0002 —
DA = = A o N (mg/L) — — — <0. 0001 —
> K % 7/ mouw = F L v (mg/L) — — — <0.0001 —
KUY 7 v omr = F L v (mg/L) — — — <0. 0001 —
~ N N v (mg/L) — — — <0.0001 —
#H ES i3 (mg/L) — — — — —
7 = | e [ (mg/L) — — — — —
2z = o R iz A (mg/L) - - - - -
D% % = = i3 [ (mg/L) - — — - -
Y T nm ' 7 o monu A A (mg/L) — — — — —
5 F# i3 (mg/L) — — — — —
Wb y N v X K v (mg/L) — — — — —
~ ) 7 = (=S (mg/L) — - — — —
7 wa ' Y/ v ou A K (mg/L) — - - - -
7 = s 2 s A (mg/L) — — - — —
A N A 7 N F B K (mg/L) — - — - -
Mmoo &k O 2 o b & W (mg/L) — — — <0. 005 -
TNV LK OZEONAEY (mg/L) — — — <0. 01 -
% K O = o b A W (mg/L) <0.01 — — <0. 01 —
ok X 2 o b A& B (mg/L) — — — <0. 01 —
T FPUV U ARV EOAEY (mg/L) — — — 11 —
~ v H vk Y E O E W (mg/L) <0. 005 — — <0. 005 —
iy 1t ) A 7+ Vg (mg/L) 8.8 — — 8.7 —
ANV T A, TRV LEGEE) (mg/L) 160 — — 150 —
7K i Js3 e W] (mg/L) — — — 258 —
B 4 A& v K om E O A (mg/L) — — — <0. 01 —
v - 7+ 2 2 N (mg/L) — — — | <0. 000001 —
- A F A A VAR RFE— (mg/L) — — — | <0. 000001 —
¥ A4 4 v H om & A (mg/L) — — — <0. 005 -
7 - J — iz el (mg/L) — — — | <0.0005 —
H#Y (& A ¥R FE(T0C) © &) (mg/L) 0.4 0.3 0.3 0.3 0.3
p H i 7.2 7.2 7.1 7.3 7.2

% _ _ _ _ _

" X HBEhL | BEL2L | BEAeL | BERL BEARL
{4, E () <0.5 <0.5 0.5 <0.5 <0.5
b B () €0.1 <0.1 <0.1 <0.1 <0.1
% B i # (mg/L) — — — — —
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H28.9. 12

H28. 10. 25

H28.11. 16

H28.12.12

H29. 1. 24

H29. 2. 20

H29. 3. 13

/0

)

&

=

=3

=+
H

&

&

=

=3

27.5

17.2

5.8

14.0

9.2

27.5

17.3

16.5

15.2

14.6

14.9

14.5

15.0

16.5

14.5

15.4

0

0

<0. 0003

<0. 00005
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<0. 0001

<0. 0001
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2 KIEMER DOKE R
(10) FHAKIR
(1) PR O R AT
O _75E 5 KPR

£ 7K e A H H28.4.19 | H28.5.18  H28.6.13 | H28.7.25 | H28.8.29
T FELUEONE O S W (mg/L) — — — | <0.0003 —
v 7 v kX E O L E W (mg/L) — — —0.0003 -
= v L kO O E W (mg/L) — — — <0. 001 —
L,2- ¥ / v muw = X v (mg/L) — — — <0. 0001 —
~ I - N (mg/L) — — — | <0.0001 —
THENLERY (- F LN F ) (mg/L) — — — <0. 001 —
i # e i (mg/L) — — — — —
Yy m w7k F=F1ULL (mg/L) - — - — -
ook 4 o = — ) (mg/L) — — — — —
= 3 A — — — 0. 002 —
i3 Bt K i (mg/L) — — — 9.2 —
L1L,1- YV 7 v e & v (mg/L) — — — <0.0001 -
A F ) —t-7 F L= — 5 )L (MBE) (mg/L) — — — | <0.0001 —
B OS5 8 K (T O N ) <1 <1 < <1 <1
BaEYE (5 v A Y T i K) — — — -0.6 —
{5 B * = A (f# /mL) 0 2 0 2 0
L1I- ¥ 7 @ g x F L v (mg/L) — — — | <0.0001 —
B 2 P 3 il B (MPN/100mL) — — —
AW b ¥ B E IOk & (mg/L) — — —
b 17 1 F (mg/L) — — — — —
v Ea JL > o 5] (MPN/L) 0 0 0 0 0
it A ks A Ji B (MPN/L) — — — — —
X 5 B (MPN/100mL) 0 0 0 0 0
# O/ M @ #4 Bk B (MPN/100mL) 0 0 0 0 1
7 v F = 7 H = (mg/L) <0. 02 — — <0. 02 —
7 v v v oA (mg/L) - - - 37 -
~ 7 X v v L (mg/L) — — — 15 -
fift % 4 %+ N (mg/L) 14 — — 16 —
kU o nm X X v Rk e (mg/L) — — — — —
i 7 L bl ) i3 (mg/L) — — — 136 —
& = 15 i ES (mS/m) 35. 0 35. 0 34. 9 34. 8 34, 4
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H28.9.12 | H28.10.25 H28.11.16 H28.12.12] H29.1.24 H29.2.20  H29.3.13 | Jgk e/ A
— — — — — — — — — <0.0003
— — — - - - - - — 0.0003
— — — — — — — — —  <0.001
— — — — — — — — — <0.0001
— — — — — — — — —  <0.0001
— — — — — — — — — <0.001
— — — — — — — — — 0.002
— — — — — — — — — 9.2
— — - - — — — — — <0.0001
— — - - — — — — — <0.0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1
— — — — — — — — — 0.6
0 0 0 0 0 0 2 2 0 1
— - - — — — — — — <0.0001
— 0 — — 0 — — 0 0 0
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 1 0 0
— <0.02 — — <0.02 — — <0.02 <0.02 <0.02
— — — — — — — — — 37
— — — — — — — — — 15
— 16 — — 15 — — 16 14 15
— — — — — — — — — 136

34.7 35. 1 35. 1 35.3 35.4 35.7 35.5 35.7 34.4 35. 1
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2 JKIERER D KE R
(10) FEAKIH
(1) PR O R A
O HgE sy KPR

£ 7K i A H H28. 7. 25 2 7K i A H H28. 7. 25
L3V 7w w7  na” v DD (mg/L)| <0.0002 F 4+ 7 7 Fx — bk A F J (mg/L)| <£0.0001
2,2-DPAC ¥ & v ) (mg/L)| <0.0002 F F X v FH o 7 (mg/L)| <0.0001
2, 4-D (2, 4-PA) (mg/L)| <0.0001 F O 7 H 7 (MBPMC) (mg/L)| <0.0001
EPN (mg/L)| <0.00001 k P v =t =4 Jb (mg/L)| <0.00005
MCPA (mg/L)| <0.00005 U 7 v v & v (DEP) (mg/L)| <0.00005
7 v e 7 2 (mg/L)|  <0.0001 kU ¥y 7 Z v — L (mg/L)| <0.0001
7 + 4 - — I (mg/L)| <0.00005 kv o7 o Z U v (mg/L)| <0.0001
7 k 7 DA > (mg/L)| <0.0001 5 a = s N K (mg/L)| <0.0001
7 = =4 Rz 2 (mg/L)| <0.00001 =4 ~ =t N 2 (mg/L)| <0.00001
7 N b Z 2 (mg/L)| <0.00005 v 5 Y % v 7 = v (ng/L)] <0.00001
7 7 7 =4 — Jb (mg/L)| <0.0001 oYU x—h(EFYL— k) (mg/L)| <0.0001
4 Y % ¥ F  F v (mng/L)| <0.00005 vy F 7 = v F 4 v (mg/L)]| <0.00001
4 v 7 = v & A (mg/L)| <0.00001 vy 7 F H v F (mg/L)]| <0.0001
A4 Y 7 v H N 7 MIPC) (mg/L)| <0.0001 =4 = ¥ =t > (mg/L)| <0.0001
A4 Y 7 v F F F v (IPT) (mg/L)| <0.0001 7 A e = = JV (mg/L) [<0. 000005
A4 7 m N » &’ A (IBP) (mg/L)| <0.0001 7 = = b v F F ¥ (MEP) (mg/L)| <0.0001
A4 v ¥ 7 7 7 v (mg/L)| <0.00005 7 = /) 7 H v Z7 (BPMC) (mg/L)| <0.0001
-~ 2 F w #H N 7 (ng/L)| <0.0001 7 = v F F v PP) (mg/L)| <0.00005
= ¥ 4 7 = v & % (EDDP) (mg/L)| <0.00005 7 = v k = — b (PAP) (mg/L)| <0.00005
= N7 = v 7 v v 7 A (ng/L)] <0.0001 7 x v F 7 ¥ I F (mg/L)| <0.0001
T RYTPTY— (= a A=) (mg/L)| <0.00001 4 VA 7 A K (mg/L)[ <0.0001
T RALT 7 (R ) (ng/L)|  <0.0001 7 vl v =4 — JL (mg/L)| <0.0001
4+ ¥ ¥ Y 7 v A K v (mg/L)| <0.0001 7 v N ) 2 (mg/L)| <0.0001
% v v 8 (F B 8 ) (mg/L)| <0.0001 7 7 wm 7 = ¥ v (mg/L)| <0.0001
4 UV ¥ A b m B v (mg/L)] £0.0001 4 JL 7 v a 2 (mg/L)| <0.0001
H 2 Va N 2 (mg/L)| <0.00001 7 v F Z 7 v — 5 (mg/L)| <0.0001
H 7 = v A k m — i (mg/L)| <0.00005 -7 = D 3 K > (mg/L)| <0.0001
F /A VIS SR s (NAC) (mg/L)| <0.0001 vl =i ¥ %+ Rz 2 (mg/L)| <0.00001
oo 7 om0 3 R (mg/L)|[ <0.0001 7 v ¥ a5 v — L (mg/L)| <0.0001
H L N 7 Z > (mg/L)| <0.00005 v = = i N K (mg/L)[ <0.0001
X /7 7 2 v (ACN) (mg/L)| <0.00005 7 v Ny — L (mg/L)| <0.0001
* ¥ 7 v > (mg/L)| <0.0001 v =t £ 7 ¥ K (mg/L)[ <0.0001
v 2 JL =4 > (mg/L)| <0.0001 ~ J 2 Jb (mg/L)| <0.0002
sy wm A w v 7 (mg/L)| <0.0001 ~ N g Vi =t > (mg/L)| <0.0001
7 m )= kua 7 = > (CNP) (mg/L)| <0.00001 N v Y v ¥y om v (mg/L)| <0.0001
s/ w A B U & R (mg/L)| <0.00001 ~ v v 7 = F v 7 (mg/L)]| <0.00001
s/ m v F v = L (TPN) (mg/L)| <0.0001 ~ N v ) > (mg/L)| 0.0004
D2 7 - DX > (mg/L)| <0.00001 ~ v F 4 A Z U v (mg/L)| <0.0001
¥ 7 7 3 % (CYAP) (mg/L)| <0.00001 N v 7 5 H v F (mg/L)| <0.0001
v v =4 v (DCMU)  (mg/L) [ <0.0001 Ny T ANT Y (R zxuYr) (mg/L)| <0.0001
v 7 v < = 5 OBN) (mg/L)| <0.0001 ~N v 7 L & — b (mg/L)| <0.0001
Y 7 wm A AR Z  (DDVP) (mg/L)| <0.00005 A A F 7 ¥ — I (mg/L)| <0.00001
VANE R U(ZFAFAA L) (mg/L)| <0.00001 ~ 7 F F v (=~ F Y v ) (mg/L)| <0.0001
v ¥ %+ = sV (mg/L)| <0.00005 A @ F wm v 7 (MCPP) (mg/L)| <0.0001
oo v R vy 7 F L (mg/L)] <0.00005 A v 3 JV (mg/L)| <0.0001
v ~ v N (CAT) (mg/L)| <0.00001 A v Z x D4 b (mg/L)| <0.0001
v A Z R U ¥ (mg/L)| <0.0001 A F F F F »  (DMTP) (mg/L)| <0.00001
v A k - — L (mg/L)| <0.0001 A F X 4 A v v (ng/L)| <0.0001
v A § U ~ (mg/L)| <0.0001 A F I 7 Z2 F v E » (mg/L)| <0.0001
YA ¥~ L — b (mg/L)] <0.00001 A b Jj 7 D v (mg/L)| <0.0001
vl A 7 v J > (mg/L)| <0.00001 A 7 = F & v + (mg/L)| <0.0001
v A A =1 > (mg/L)| <0.0001 A a =4 = JL (mg/L)| <0.0001
¥ 7 v = Jb (mg/L)| <0.0001 £ Jj X — L (mg/L)[ <0.00005
¥ v = 2 (mg/L)| <0.0001
7 %+ 4 VY Jb 7 (mg/L)| <0.0001
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£ 7K i A H H28. 7. 25 2 7K i A H H28. 7. 25
EPN 7 ¥ 4 > (mg/L)| <0.00001 F T A % ¥ A& (mg/L)| <0.0001
A4 Y XY F 4 v F F Y v (mg/L)| £0.00005 Vi 7 Ju Vi 2 K (mg/L)| <0.0001
A4 Y 7 = v K A F % Y v (ng/L)[<0.000005 T b7 7 v LB A A (CWP) (mg/L)| <0.0001
- v F 2 A 7 = — b (mng/L)| <0.0001 > b 7 =2 F ¥V — J (mg/L)| <£0.0001
CNP- 7 3 J & (mg/L) [<0. 000001 > 7 7 = J ¥ K (mg/L)] <£0.0001
7 v ¥ U R AL F Y v (mg/L)| <0.00001 U X% W% X vy 7 = F b (mg/L)| <0.0001
A4 7T Y ) v F F Y v (mg/L)]| <0.00001 U 7 o 2 Y — b (mg/L)| <0.0001
7 =t FF A F Y (mg/L)]| <0.00005 > 7 w7 = Y K (mg/L)| <0.0001
MPP 2 L & F ¥ K (mg/L)| <0.00005 = 7 N = 5 2 (mg/L)| <0.0001
MPP A JL gz v (mg/L)| <0.00005 Ny v 7 5 Y — v (mg/L)| <0.0001
MPP A+ ¥ v > (mg/L)| <0.00005 =4 A k =4 V4 > (mg/L)| <0.0001
MPP 4 &% ¥ v 2 )L 3R & ¥ K (mg/L)| <0.00005 g Yz 7 uarx F L (mg/L)| <0.0001
MPP 4+ ¥ Y ¥ Z A & v (mg/L)| <0.00005 vy Ny 7 A F L (mg/L)]| <0.0001
7 % I &k A 4 ¥ Y v (mg/L)| <0.0001 ) 2 K A A F b (mg/L)]| <0.0001
7 v ® 7 F K5 7 v ® (mg/L)| <0.0001 7 7 A b =4 JL (mg/L)| <0.0001
~ 7 F F v F J v (mg/L)| <0.0001 7 v 7T Y & v 7 (mg/L)| <0.0001
7 w2 = 2 (DCPA) (mg/L)| <0.0001
7 v x 2 7 Y F (mg/L)[ <0.0001 -7 = A N 2 (mg/L)| <0.00001
A4 2 ¥ v wma 7 U F (mg/L)| <0.0001 7 a N v ¥ » b (BPPS) (mg/L)[ <0.0001
F 7 a  F v — L (mg/L)] <0.0001 7 v K Fx A A (PHO) (mg/L)| <0.0001
|=§ 7 v =4 Rz 2 (mg/L)| <0.0001 va = A bk ) > (mg/L)| <0.0001
7 L X 7 7 I F (mg/L)| <0.00001 N Z A4 F v 7 (mg/L)| <0.00005
7 = < V4 Jb (mg/L)| <0.0001 7 ¥ DV 2 (mg/L)| <0.00001
~ v b F ¥ Y (mg/L)]| <0.0001 Rz 2 & i F (mg/L)| <0.0001
D A = > (mg/L)| <0.0001 € /7 v bk K A (mg/L)]| <0.00001
A N 7 v — b (mg/L)| <0.0001 ] = E =4 > (mg/L)| <0.0001
T YNV T =8- A F L (mg/L)| <0.0001 7 Y ¥ ¥ 2 F v v v (mg/L)| <0.0001
7 A bk U > (mg/L)| <0.0001 A =7 = v % > (mg/L)| <0.0001
A4 F X~ T 4 F (mg/L)|[ <0.0001 7 = = kS 7 (mg/L)| <0.0001
4 <= Y A2 A 7 u v (mg/L)| <0.0001 T val = 2 > (mg/L)| <0.0001
o= =2 F J — 3 P (mg/L)| <0.0001 Va = JL 7 =4 — JL (mg/L)| <0.0001
= b ¥ ¥ X o 7 v ¥ (mg/L)| <0.0001 M v 7 v R A A F b (mg/L)| <0.0001
- + N v ¥ = F (mg/L)| <0.0001 | A 7 v v A F g (mg/L)| <0.0001
+ % Y 7 L F o (mg/L)]| <0.0001 v 7 = /v 7 A (mg/L)] <0.0001
%+ * va N Jb (mg/L)| <0.0001 vy 7 e % ¥ 7 = v (mg/L)| <0.0001
* ¥ v ks v 7 = F ) (mg/L)| <0.0001 7 5 ¥ =z A 7 v v (mg/L)| <0.0001
s v F 7 = ¥ v (mg/L)]| <0.0001 4 L k 7 = b (mg/L)| <0.0001
s w <= 7 = 7 ¥V F (mg/L)| <0.0001 N R y F (SAP) (mg/L)| <0.0001
7 gL B — )L P A F )L (ICTP) (mg/L)| <0.0001 N v AR 7 m v A F v (mg/L)|  <0.0001
7 v b F U R A A F b (mg/L)| <0.0001 A * ¥ Jb (mg/L)| <0.0002
Y7 v 7 x v F 4 v (ECP) (mg/L)| <0.00005 L Z BdE AAFALAEFY v (mg/L)| <0.0001
D Vi = A v > (mg/L)| <0.0001
Yy wm A 7 v v 7 (ng/L)| <0.0001 > * ¥ ¥ F7F Y v (mg/L)| <0.0001
> ) A 7 v v (mng/L)| <£0.0001 s m A b *¥ ¥ = Jv (mg/L)| <0.0001
v J 7 7 Z > (mg/L)| <0.0001 )7 EL-2-7 F X =F 0 (mg/L)| <0.0001
Y 7 = J a3 F Y — b (mg/L)| <0.0001 = + m 7 = v (NIP) (mg/L)| <0.0001
v 7 g X v X m  r (mg/L)| <0.0001 - = A DX > (mg/L)| <0.0001
vy 7 v =z v — b (mg/L)| <0.0001 2- 4 b ® U % — k (mg/L)| <0.0001
D - o D = JL (mg/L)| <0.0001
¥ A @ F Y — 2 (mg/L)| <£0.0001
Y A F o v v & 2 (mg/L)| <0.0001
>y 7 7 v F 7 = v (mg/L)| <0.0001
v v A ¥ P > (mg/L)| <0.0001
F 7 v wa  F K (mg/L)[ <0.0001
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2 KIEMER DOKE R
(10) FHAKIR
(1) P K O R AT
@ _EHIOKIE

£ 7K e A H H28.4.19 | H28.5.18  H28.6.13 | H28.7.25 | H28.8.29
PN i 5 5 5] = =

= i (C) 18.2 21.5 21.2 26.8 27.4
7K i (C) 16.5 15.8 15.9 16.5 16. 4
— ik A (f8 /mL) 0 0 0 0 0
x i (MPN/100mL) 0 0 0 0 0
H KI Ak OFONEY (mg/L) — — — <0. 0003 —
KB E O 2 O b & W (mg/L) — — — | <0.00005 -
L v kX ZE O LA W (mg/L) — — — <0. 001 —
m kK O F o b A W (mg/L) — — — <0. 001 —
E £ kK O 2 O 8 A& W (mg/L) — — — <0. 001 -
= A (/| (mg/L) — — — <0. 005 —
il it fik HE %= = (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
VT A A A RO T (mg/L) — — — <0. 001 —
MBREEELCHMBREER (mg/L) 3.4 3.4 3.4 3.4 3.4
7 v FZF RO EZE 0O AEWY (mg/L) <0. 08 — — 0. 08 —
r v F KR O F 0O AW (mg/L) — — — <0.01 —
Iy bi 1k K F# (mg/L) — — — | <0.0001 —
1, 4- D 7 e Va N (mg/L) — — — <0.001 —
CA-1,2-Y 7 muxF L KN

KS v zx-1,2-Y7mRrxTF L (mg/L) — — — | <0.0002 —
DA = = A o N (mg/L) — — — <0. 0001 —
> K % 7/ mouw = F L v (mg/L) — — — <0.0001 —
KUY 7 v omr = F L v (mg/L) — — — <0. 0001 —
~ N N v (mg/L) — — — <0.0001 —
#H ES i3 (mg/L) — — — — —
7 = | e [ (mg/L) — — — — —
2z = o R iz A (mg/L) - - - - -
D% % = = i3 [ (mg/L) - — — - -
Y T nm ' 7 o monu A A (mg/L) — — — — —
5 F# i3 (mg/L) — — — — —
Wb y N v X K v (mg/L) — — — — —
~ ) 7 = (=S (mg/L) — - — — —
7 wa ' Y/ v ou A K (mg/L) — - - - -
7 = s 2 s A (mg/L) — — - — —
A N A 7 N F B K (mg/L) — - — - -
Mmoo &k O 2 o b & W (mg/L) — — — <0. 005 -
TNV LK OZEONAEY (mg/L) — — — <0. 01 -
% K O = o b A W (mg/L) <0.01 — — <0. 01 —
ok X 2 o b A& B (mg/L) — — — <0. 01 —
T FPUV U ARV EOAEY (mg/L) — — — 11 —
~ v H vk Y E O E W (mg/L) <0. 005 — — <0. 005 —
iy 1t ) A 7+ Vg (mg/L) 9.5 — — 9.6 —
ANV T A, TRV LEGEE) (mg/L) 150 — — 140 —
7K i Js3 e W] (mg/L) — — — 261 —
B 4 A& v K om E O A (mg/L) — — — <0. 01 —
v - 7+ 2 2 N (mg/L) — — — | <0. 000001 —
- A F A A VAR RFE— (mg/L) — — — | <0. 000001 —
¥ A4 4 v H om & A (mg/L) — — — <0. 005 -
7 - J — iz el (mg/L) — — — | <0.0005 —
H#Y (& A ¥R FE(T0C) © &) (mg/L) 0.2 0.2 0.2 0.2 0.3
p H i 7.4 7.5 7.4 7.6 7.5

% _ _ _ _ _

" X HBEhL | BEL2L | BEAeL | BERL BEARL
{4, E () <0.5 <0.5 0.5 <0.5 <0.5
b B () €0.1 <0.1 <0.1 <0.1 <0.1
% B i # (mg/L) — — — — —
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27.4

17.3

18.5

15.6

15.3

14.9

15.4

15.0

18.5

14.9

15.9

0

0

<0. 0003

<0. 00005

<0. 001

<0. 001

<0. 001

<0. 005

<0. 004

<0. 001

3.4

<0. 08

<0.01

<0. 0001

<0. 001

<0. 0002

<0. 0001

<0. 0001

<0. 0001

<0. 0001

<0. 005

<0.01

<0.01

<0.01

11

<0. 005

9.6

150

261

<0.01

<0. 000001

<0. 000001

<0. 005

<0. 0005

0.2
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2 KIEMER DOKE R
(10) FHAKIR
(1) P K O R AT
@ PP

£ 7K e A H H28.4.19 | H28.5.18  H28.6.13 | H28.7.25 | H28.8.29
T FELUEONE O S W (mg/L) — — — | <0.0003 —
v 7 v kX E O L E W (mg/L) — — —0.0003 -
= v L kO O E W (mg/L) — — — <0. 001 —
,2- ¥ / w m == X v (mg/L) — — — <0. 0001 —
~ I - N (mg/L) — — — | <0.0001 —
THENLERY (- F LN F ) (mg/L) — — — <0. 001 —
i # e i (mg/L) — — — — —
Yy m w7k F=F1ULL (mg/L) - — - — -
ook 4 o = — ) (mg/L) — — — — —
= 3 A — — — <0. 001 —
i3 Bt K i (mg/L) — — — 4.5 —
L1L,1- YV 7 v e & v (mg/L) — — — <0.0001 -
A F ) —t-7 F L= — 5 )L (MBE) (mg/L) — — — | <0.0001 —
B OS5 8 K (T O N ) <1 <1 < <1 <1
BaEYE (5 v A Y T i K) — — — -0. 4 —
{5 B * = A (f# /mL) 0 0 0 0 0
L1I- ¥ 7 @ g x F L v (mg/L) — — — | <0.0001 —
B 2 P 3 il B (MPN/100mL) — — —
AW b ¥ B E IOk & (mg/L) — — —
b 17 1 F (mg/L) — — — — —
v Ea JL > o 5] (MPN/L) 0 0 0 0 0
it A ks A Ji B (MPN/L) — — — — —
X 5 B (MPN/100mL) 0 0 0 0 0
# O/ M @ #4 Bk B (MPN/100mL) 0 0 0 0 0
7 v F = 7 H = (mg/L) <0. 02 — — <0. 02 —
7 v v v oA (mg/L) - - - 36 -
~ 7 X v v L (mg/L) — — — 13 -
fift % 4 %+ N (mg/L) 23 — — 25 —
kU o nm X X v Rk e (mg/L) — — — — —
i 7 L bl ) i3 (mg/L) — — — 100 —
& = 15 i ES (mS/m) 33. 4 33.5 33.5 33.6 33.5
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H28.9.12 | H28.10.25 H28.11.16 H28.12.12] H29.1.24 H29.2.20  H29.3.13 | Jgk e/ A
— — — — — — — — — <0.0003
— — — - - - - - — 0.0003
— — — — — — — — —  <0.001
— — — — — — — — — <0.0001
— — — — — — — — —  <0.0001
— — — — — — — — — <0.001
— — — — — — — — —  <0.001
— — — — — — — — — 4.5
— — - - — — — — — <0.0001
— — - - — — — — — <0.0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1
— — — — — — — — — 0.4
0 0 0 0 0 0 0 0 0 0
— - - — — — — — — <0.0001
— 0 — — 0 — — 0 0 0
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
— <0.02 — — <0.02 — — <0.02 <0.02 <0.02
— — — — — — — — — 36
— — — — — — — — — 13
— 25 — — 24 — — 25 23 24
— — — — — — — — — 100

33.7 33.6 33.6 33.7 33.7 33.9 33.8 33.9 33.4 33.6
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2 JKiEfER DO KE A
(10) PRI
(1) BEYLF MR OHE R A

@ FHIRAKJHE

£ 7K i A H H28. 7. 25 2 7K i A H H28. 7. 25
L3V 7w w7  na” v DD (mg/L)| <0.0002 F 4+ 7 7 Fx — bk A F J (mg/L)| <£0.0001
2,2-DPAC ¥ & v ) (mg/L)| <0.0002 F F X v FH o 7 (mg/L)| <0.0001
2, 4-D (2, 4-PA) (mg/L)| <0.0001 F O 7 H 7 (MBPMC) (mg/L)| <0.0001
EPN (mg/L)| <0.00001 k P v =t =4 Jb (mg/L)| <0.00005
MCPA (mg/L)| <0.00005 U 7 v v & v (DEP) (mg/L)| <0.00005
7 v e 7 2 (mg/L)|  <0.0001 kU ¥y 7 Z v — L (mg/L)| <0.0001
7 + 4 - — I (mg/L)| <0.00005 kv o7 o Z U v (mg/L)| <0.0001
7 k 7 DA > (mg/L)| <0.0001 5 a = s N K (mg/L)| <0.0001
7 = =4 Rz 2 (mg/L)| <0.00001 =4 ~ =t N 2 (mg/L)| <0.00001
7 N b Z 2 (mg/L)| <0.00005 v 5 Y % v 7 = v (ng/L)] <0.00001
7 7 7 =4 — Jb (mg/L)| <0.0001 oYU x—h(EFYL— k) (mg/L)| <0.0001
4 Y % ¥ F  F v (mng/L)| <0.00005 vy F 7 = v F 4 v (mg/L)]| <0.00001
4 v 7 = v & A (mg/L)| <0.00001 vy 7 F H v F (mg/L)]| <0.0001
A4 Y 7 v H N 7 MIPC) (mg/L)| <0.0001 =4 = ¥ =t > (mg/L)| <0.0001
A4 Y 7 v F F F v (IPT) (mg/L)| <0.0001 7 A e = = JV (mg/L) [<0. 000005
A4 7 m N » &’ A (IBP) (mg/L)| <0.0001 7 = = b v F F ¥ (MEP) (mg/L)| <0.0001
A4 v ¥ 7 7 7 v (mg/L)| <0.00005 7 = /) 7 H v Z7 (BPMC) (mg/L)| <0.0001
-~ 2 F w #H N 7 (ng/L)| <0.0001 7 = v F F v PP) (mg/L)| <0.00005
= ¥ 4 7 = v & % (EDDP) (mg/L)| <0.00005 7 = v k = — b (PAP) (mg/L)| <0.00005
= N7 = v 7 v v 7 A (ng/L)] <0.0001 7 x v F 7 ¥ I F (mg/L)| <0.0001
T RYTPTY— (= a A=) (mg/L)| <0.00001 4 VA 7 A K (mg/L)[ <0.0001
T RALT 7 (R ) (ng/L)|  <0.0001 7 vl v =4 — JL (mg/L)| <0.0001
4+ ¥ ¥ Y 7 v A K v (mg/L)| <0.0001 7 v N ) 2 (mg/L)| <0.0001
% v v 8 (F B 8 ) (mg/L)| <0.0001 7 7 wm 7 = ¥ v (mg/L)| <0.0001
4 UV ¥ A b m B v (mg/L)] £0.0001 4 JL 7 v a 2 (mg/L)| <0.0001
H 2 Va N 2 (mg/L)| <0.00001 7 v F Z 7 v — 5 (mg/L)| <0.0001
H 7 = v A k m — i (mg/L)| <0.00005 -7 = D 3 K > (mg/L)| <0.0001
F /A VIS SR s (NAC) (mg/L)| <0.0001 vl =i ¥ %+ Rz 2 (mg/L)| <0.00001
/R VR S = A S R (mg/L)|[ <0.0001 7 v ¥ a5 v — L (mg/L)| <0.0001
H L N 7 Z > (mg/L)| <0.00005 v = = i N K (mg/L)[ <0.0001
X /7 7 2 v (ACN) (mg/L)| <0.00005 7 v Ny — L (mg/L)| <0.0001
* ¥ 7 v > (mg/L)| <0.0001 v =t £ 7 ¥ K (mg/L)[ <0.0001
v 2 JL =4 > (mg/L)| <0.0001 ~ J 2 Jb (mg/L)| <0.0002
sy wm A w v 7 (mg/L)| <0.0001 ~ N g Vi =t > (mg/L)| <0.0001
7 m )= kua 7 = > (CNP) (mg/L)| <0.00001 N v Y v ¥y om v (mg/L)| <0.0001
s/ w A B U & R (mg/L)| <0.00001 ~ v v 7 = F v 7 (mg/L)]| <0.00001
7 m v % u = b (TPN) (mg/L)| <0.0001 ~ N v ) >~ (mg/L)| <0.0001
D2 7 - DX > (mg/L)| <0.00001 ~ v F 4 A Z U v (mg/L)| <0.0001
¥ 7 7 3 % (CYAP) (mg/L)| <0.00001 N v 7 5 H v F (mg/L)| <0.0001
v v =4 v (DCMU)  (mg/L) [ <0.0001 Ny T ANT Y (R zxuYr) (mg/L)| <0.0001
v 7 v < = 5 OBN) (mg/L)| <0.0001 ~N v 7 L & — b (mg/L)| <0.0001
Y 7 wm A AR Z  (DDVP) (mg/L)| <0.00005 A A F 7 ¥ — I (mg/L)| <0.00001
VANE R U(ZFAFAA L) (mg/L)| <0.00001 ~ 7 F F v (=~ F Y v ) (mg/L)| <0.0001
v ¥ %+ = sV (mg/L)| <0.00005 A @ F wm v 7 (MCPP) (mg/L)| <0.0001
oo v R vy 7 F L (mg/L)] <0.00005 A v 3 JV (mg/L)| <0.0001
v ~ v N (CAT) (mg/L)| <0.00001 A v Z x D4 b (mg/L)| <0.0001
v A Z R U ¥ (mg/L)| <0.0001 A F F F F »  (DMTP) (mg/L)| <0.00001
v A k - — L (mg/L)| <0.0001 A F X 4 A v v (ng/L)| <0.0001
v A § U ~ (mg/L)| <0.0001 A F I 7 Z2 F v E » (mg/L)| <0.0001
YA ¥~ L — b (mg/L)] <0.00001 A b Jj 7 D v (mg/L)| <0.0001
vl A 7 v J > (mg/L)| <0.00001 A 7 = F & v + (mg/L)| <0.0001
v A A =1 > (mg/L)| <0.0001 A a =4 = JL (mg/L)| <0.0001
¥ 7 v = Jb (mg/L)| <0.0001 £ Jj X — L (mg/L)[ <0.00005

¥ v = 2 (mg/L)| <0.0001

7 %+ 4 VY Jb 7 (mg/L)| <0.0001
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£ 7K i A H H28. 7. 25 2 7K i A H H28. 7. 25
EPN 7 ¥ 4 > (mg/L)| <0.00001 F T A % ¥ A& (mg/L)| <0.0001
A4 Y XY F 4 v F F Y v (mg/L)| £0.00005 Vi 7 Ju Vi 2 K (mg/L)| <0.0001
A4 Y 7 = v K A F % Y v (ng/L)[<0.000005 T b7 7 v LB A A (CWP) (mg/L)| <0.0001
- v F 2 A 7 = — b (mng/L)| <0.0001 > b 7 =2 F ¥V — J (mg/L)| <£0.0001
CNP- 7 3 J & (mg/L) [<0. 000001 > 7 7 = J ¥ K (mg/L)] <£0.0001
7 v ¥ U R AL F Y v (mg/L)| <0.00001 U X% W% X vy 7 = F b (mg/L)| <0.0001
A4 7T Y ) v F F Y v (mg/L)]| <0.00001 U 7 o 2 Y — b (mg/L)| <0.0001
7 =t FF A F Y (mg/L)]| <0.00005 > 7 w7 = Y K (mg/L)| <0.0001
MPP 2 L & F ¥ K (mg/L)| <0.00005 = 7 N = 5 2 (mg/L)| <0.0001
MPP A JL gz v (mg/L)| <0.00005 Ny v 7 5 Y — v (mg/L)| <0.0001
MPP A+ ¥ v > (mg/L)| <0.00005 =4 A k =4 V4 > (mg/L)| <0.0001
MPP 4 &% ¥ v 2 )L 3R & ¥ K (mg/L)| <0.00005 g Yz 7 uarx F L (mg/L)| <0.0001
MPP 4+ ¥ Y ¥ Z A & v (mg/L)| <0.00005 vy Ny 7 A F L (mg/L)]| <0.0001
7 % I &k A 4 ¥ Y v (mg/L)| <0.0001 ) 2 K A A F b (mg/L)]| <0.0001
7 v ® 7 F K5 7 v ® (mg/L)| <0.0001 7 7 A b =4 JL (mg/L)| <0.0001
~ 7 F F v F J v (mg/L)| <0.0001 7 v 7T Y & v 7 (mg/L)| <0.0001
7 w2 = 2 (DCPA) (mg/L)| <0.0001
7 v x 2 7 Y F (mg/L)[ <0.0001 -7 = A N 2 (mg/L)| <0.00001
A4 2 ¥ v wma 7 U F (mg/L)| <0.0001 7 a N v ¥ » b (BPPS) (mg/L)[ <0.0001
F 7 a  F v — L (mg/L)] <0.0001 7 v K Fx A A (PHO) (mg/L)| <0.0001
|=§ 7 v =4 Rz 2 (mg/L)| <0.0001 va = A bk ) > (mg/L)| <0.0001
7 L X 7 7 I F (mg/L)| <0.00001 N Z A4 F v 7 (mg/L)| <0.00005
7 = < V4 Jb (mg/L)| <0.0001 7 ¥ DV 2 (mg/L)| <0.00001
~ v b F ¥ Y (mg/L)]| <0.0001 Rz 2 & i F (mg/L)| <0.0001
D A = > (mg/L)| <0.0001 € /7 v bk K A (mg/L)]| <0.00001
A N 7 v — b (mg/L)| <0.0001 ] = E =4 > (mg/L)| <0.0001
T YNV T =8- A F L (mg/L)| <0.0001 7 Y ¥ ¥ 2 F v v v (mg/L)| <0.0001
7 A bk U > (mg/L)| <0.0001 A =7 = v % > (mg/L)| <0.0001
A4 F X~ T 4 F (mg/L)|[ <0.0001 7 = = kS 7 (mg/L)| <0.0001
4 <= Y A2 A 7 u v (mg/L)| <0.0001 T val = 2 > (mg/L)| <0.0001
o= =2 F J — 3 P (mg/L)| <0.0001 Va = JL 7 =4 — JL (mg/L)| <0.0001
= b ¥ ¥ X o 7 v ¥ (mg/L)| <0.0001 M v 7 v R A A F b (mg/L)| <0.0001
- + N v ¥ = F (mg/L)| <0.0001 | A 7 v v A F g (mg/L)| <0.0001
+ % Y 7 L F o (mg/L)]| <0.0001 v 7 = /v 7 A (mg/L)] <0.0001
%+ * va N Jb (mg/L)| <0.0001 vy 7 e % ¥ 7 = v (mg/L)| <0.0001
* ¥ v ks v 7 = F ) (mg/L)| <0.0001 7 5 ¥ =z A 7 v v (mg/L)| <0.0001
s v F 7 = ¥ v (mg/L)]| <0.0001 4 L k 7 = b (mg/L)| <0.0001
s w <= 7 = 7 ¥V F (mg/L)| <0.0001 N R y F (SAP) (mg/L)| <0.0001
7 gL B — )L P A F )L (ICTP) (mg/L)| <0.0001 N v AR 7 m v A F v (mg/L)|  <0.0001
7 v b F U R A A F b (mg/L)| <0.0001 A * ¥ Jb (mg/L)| <0.0002
Y7 v 7 x v F 4 v (ECP) (mg/L)| <0.00005 L Z BdE AAFALAEFY v (mg/L)| <0.0001
D Vi = A v > (mg/L)| <0.0001
Yy wm A 7 v v 7 (ng/L)| <0.0001 > * ¥ ¥ F7F Y v (mg/L)| <0.0001
> ) A 7 v v (mng/L)| <£0.0001 s m A b *¥ ¥ = Jv (mg/L)| <0.0001
v J 7 7 Z > (mg/L)| <0.0001 )7 EL-2-7 F X =F 0 (mg/L)| <0.0001
Y 7 = J a3 F Y — b (mg/L)| <0.0001 = + m 7 = v (NIP) (mg/L)| <0.0001
v 7 g X v X m  r (mg/L)| <0.0001 - = A DX > (mg/L)| <0.0001
vy 7 v =z v — b (mg/L)| <0.0001 2- 4 b ® U % — k (mg/L)| <0.0001
D - o D = JL (mg/L)| <0.0001
¥ A @ F Y — 2 (mg/L)| <£0.0001
Y A F o v v & 2 (mg/L)| <0.0001
>y 7 7 v F 7 = v (mg/L)| <0.0001
v v A ¥ P > (mg/L)| <0.0001
F 7 v wa  F K (mg/L)[ <0.0001
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